Suplement G.Brewiak
A.Sarniak

Note[1]

1 &-1e= 0-7any
0-11 5+ ore or %+4 bad to NT
16+ w/0 4+M and 5+m

1eb-10

1v/4=3+v/4 NF

1-1e
INT= 17-19 Bal
2NT= (22)23-24Bal

1de-10
24/GF/-?  29=4-6HCP, 24=0-3HCP,2NT=6-11HCP o+ ¢, 30=6+¢,34=6+93¥=4 3=

leb-10
19-2 3d=5+4+ms 9-11
2NT=18+
3NT=16-18
24=16-18 w/o & stoper

Note [ 2]

1&-29=trf to 2NT

9

24=ASK GF
2NT= SO

3&=SO
3e=5+%,4¢ GF
3v=5+%,4(3) v,GF
3a=5+a43)s,GF

la-2w
24-?
3%/0=5&/e,
3w/a=xx Y/a
1a-24
9

2nt = R —»3d=Hxxxxx ¢
34/9/#= & HHxxxx/x/, short ¢/¥/a
3nt=¢ HHxxxx/x/ no short
3£=SO
3e/w/a=revers
4&=FG supp. o,
4X= short

Note [ 3]

l1e-20

?

2v/8/3% - 11-21 short

2nt — good hand

3w/a - xx ¥/4,5 ¢ no short good hand

3nt - 11-13 5(6) ¢ good hand to play nt
3 ¢=another hands

le-2v

1e-2v=3+ ¢ inv

le-2w

2 a=ask — value
2nt="?

3&=F1

3 ¢ =s-off
3w/a=short GF



1 6-24= 6+ inv
2NT= ask-??
3&=bad suit
3¢/v/4=HH &, short ¢/¥/4

16-2NT
3¥/4= short

1 ¢ -3¢=pree 4+ or any short,¢supp , FG
3¢ -7 Pass=weak
39/4/NT=spl v/a/d

16 -3v/a/4%/weak spl/ F4¢
4e=s.0.

passed hand:

1¢-2e=weak/6-9/
306=6-9 4+¢
34=0-6HCP

Note [ 4]
1IM-2NT

1 ¥-2NT

?

3 &=R-FG

3 e=say 4¥ if you have good inv
39=S0

3 #/4 &/ e =short

19-2NT
3 &-73 ¢=3 ¥ no short
3 ¥=4 ¥ no short
3 #=3 ¥ any short------ 3NT ask
3NT/4¢/4 ¢ =49 short 4/e/ e
1h-2nt
3eb-34
?
3¥=slam try no short /good to play 3NT
38=sh &/
3nt/4%= (4)5+%/¢ slam try
Note [ 5]
IM-24#=GF
1w/#-2%=GF many hands, possibile ¢ or ¥ suit
9

2e¢ 11-14no 44/9— 2v=R
2nt=ask for bid 3nt with tipical hand

3v/#=ask for bid 4¥/4 with tipical hand
2 11-21 4+a/¥ — 24=Relay

26 6+wv/4 15+ — 2BA=Relay

2BA 4+& 15+ —> 3%=Relay

3% 18-21, 3532 — 3 #=Relay
3e 54 15+— 3w=Relay

3w 3541 15+

3a 1543 15+

3BA 15-17, 2542
44 18-21, 2542



Note [6]

1v-34=any weak spl
3NT=short, /12/13+HCP

1v-34
3NT=ask—nat short

14-3NT= any weak spl
4éb=ask— 4 4/9/4=short ¢/¥/&

1a-2v
3NT= weak spl

Note [ 7]

1nt-?

2&=ask distribution
2¢/v=trf v/&

2a=trf &

2nt=nat

3&=4¢suit weak or GF
3e=¢suit inv
39/a=3/1-1/3-5+4+%¢
4/ 0=trf W/&

Int-2#=ask distribution
9

24=n0 4(5) then 2#=ask distr

29=4% , 44 possibile, then 2nt= ask distr,34= slam interest ¥supp
24=44 .10 49, then 3%= ask distr, 3¥=slam interest 4supp
2nt=5%, then 3%=ask doubleton

3&=54, then 3#=ask doubleton

Note [8]
2NT-?
20-22- Bal /5¢cM 6¢cm,54distr OK/
2NT-?
3& GF stayman
3e/v=tr
34 =h+e
4= 9+;6+9;w/0 & and 5&/e;slam try

44 =9+;6+4;w/0 4% and 5&/¢ slam try

49=9-10HCP 1444/04(54)

2ba-3% 2ba-3%
? 3¢ -2
3e=4v/a 3v=44
3v=no4v/a if 4% then slam try
3a=54 3a=44 w/o 4w
3ba=5% 3ba=8+;6+& slam try
48=8+;6+¢ slam try
46=5-94+a4v
2ba-3& 2ba-3%
3¢ 3% 3v-?
3ba-4#=10+; 4+ 44w ;slam try 3a=4+:5+adv
3NT=s.0
48/0=9+;5+%/¢;
2ba- 34

3a/3ba-4&%/e= 9+ ;cb or nat!

2ba-3¢
3a/4%/¢=20-21 (3)4¥; + good suit/ hhhx/x/

2ba-3w
4%/ ¢/9=20-21 (3)4 & the same

2ba-3e/%
3ba=20-21;(3)4 v/a



2ba-4w/a
4ba=negat.

Note [9]

28---7
2e=relay INV+
29/4=5+9/#6 NF
2nt=INV
3%=S0
3e/v/a=6+INV
3ntdv/a S.0
4a=pree

2826
?

29=3v

24=3aw/03%

2nt=11-14 6+& w/o 3M,4¢
3%=11-142245,11-12 664 ¢
3e=6+% 44 13-14
3v/a/nt=13-14 short v & ¢ 6+

24826
2v/#=2nt=GF , maybe unbalanced
2#a=nat 5+4 inv
2ba=R GF
3&=nf inv
3 ¢=nat GF/volues /
3v=inv
34=GF 6+6
3ba=s.0
4&=inv

Note [10]

IM- 2m- 2NT= GF with supp, cue = limit with supp

INT- x/2cl/2d- dbl=t.0., 2x= NF, 2NT/3¢s/ ¢/3%=inw + 5+ &/¢/¥/4  34=4+% FG

INT- 29/#-3¢=5+8/9 inv+, INT- 29/B-3¥/a=a=¢+% FG
INT- 29/#-34/¥=ask stopper ¥/4

INT-2M- 2NT= lebensohl / weak with &(¥), inv with ¢ , FG with 4M

19-29- ? 24=FG with supp
2NT= o inv+
3= ¢ inv+
3e=supp ¥inv
3¥=weak
3a=splinter
4m= suit and supp
3NT= supp ¥ good hand
4v= only supp / may be week/

14-24-22NT- &
3h=o
34=FG 3+&
3v=inv 3+4



Note [11]

1&-(14)-?

x=4+% (GF if 44 and 4+%, #later)
1v=4+4 (GF if 5+& i 4¥)
14=4+4+%4 no more than inv , (possibile GF if exc444% )
Int=nat

2&=nat

24=4% 5+% inv

29=445+% inv

24=06+% inv

3&=4GF

34= ask stopper

39=55 a%

34=55 v&

1%-1(v)-?

2¥=any 6+# s-off or inv or GF
24=4 Gf

3=2 Gf

34=¢inv

3v=44

3a=¢4

4do=oa

l1e-(1v)-?

2¥=any 6+# s-off or inv or GF

24=6+& Gf

3&=4 supp Gf

3e=preem

3v=as

3a=¢% 5484+ GF

4p=0¢

Note[12]

14-INT

2ée=2a/ 4+¥ 5+4 11-21HCP
OR b/ any FG

1 4- INT
27

2 = ASK art

2= 3-4¥ weak hand

24=4-6 3+4 Or 6-7 24
2NT=ée+e 5+5+
3/ 0 /9=6+



